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Child Development and Pedagogy

Direction (1-30): Answer the following questions by
selecting the correct/most appropriate options.

1.

Dyslexia is a — condition which impacts learner’s
ability to

(1) Physiological, socialize with peers

(2) sensory, Coordinate body movements

(3) emotional, draw pictures

(4) neurological, link sounds with symbols

Assertion (A): Learning from real-life problems and
concrete experiences gives the children multiple
pathways for learning and retrieving information.
Reason (R): Development is relatively orderly and
sequential.

Choose the correct option.

(1) (A) is true but (R) is false.

(2) Both (A) and (R) are false.

(3) Both (A) and (R) are true and (R) is the correct
explanation of (A).

(4) Both (A) and (R) are true but (R) is not the correct
explanation of (A).

Asking Critical questions such as “how much and
in what ways are various gender represented in
textbooks and media” would encourage :

(1) Reinforcing gender identity

(2) Discouraging gender role flexibility

(3) Questioning gender stereotypes

(4) Strengthening gender

Assertion (A): In an inclusive classroom, adaptations
should be made in learning goals, pedagogical
strategies as well as assessment,

Reason (R) : The philosophy of inclusion advocates
elimination of all individual differences through
pedagogical approaches and assessment.

Choose the correct option.

(1) (A) is true but (R) is false.

(2) Both (A) and (R) are false.

(3) Both (A) and (R) are true and (R) is the correct
explanation of (A).

(4) Both (A) and (R) are true but (R) is not the correct
explanation of (A).

A teacher notices that one of her students is highly

distractable and has trouble paying attention during

class. Which of the following strategies would is

an effective strategy in helping the student stay

focused?

(1) Giving a timer to student for self-regulation and
time-management,

(2) Calling the parents and taking Strict disciplinary
action against the student.
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(3) Giving the student repeated tasks to do during
class.

(4) Strictly telling the student to increase their
attention span.

Assertion (A): Teachers should constantly reflecting
their own stereotypes and bias,

Reason (R): Culturally responsive teaching means
that teachers are reflective.

Choose the correct option.

(1) (A) is true but (R) is false.

(2) Both (A) and (R) are false.

(3) Both (A) and (R) are true and (R) is the correct
explanation of (A).

(4) Both (A) and (R) are true but (R) is not the correct
explanation of (A).

Which of the following process is essential in

meaning making of the information received from

environment and store it further in memory?

(1) Forgetting (2) Retrieval

(3) Attention (4) Decay

In which stage of Kohlberg's moral development do

children's reasoning revolve around ethics of law?

(1) Heteronomous morality

(2) Autonomous morality

(3) Pre-conventional morality

(4) Conventional morality

Which of the following is a core principle of

constructivist learning, not with their environment,

(1) Students construct their own knowledge
through achieve engagement

(2) Learning is primarily a passive process that
involves receiving and memorizing information.

(3) Teachers should provide direct instruction and
explicit guidance to students.

(4) Learning occurs when students receive correct
answer and feedback from teachers.

According to Vygotsky, what is the role of the teacher

in facilitating cognitive development ?

(1) To allow the student to learn completely
independently.

(2) To give only those tasks that the student can
currently do independently,

(3) To provide information and knowledge to the
student.

(4) To guide and support the student's learning
through scaffolding.

Which of the following does not exemplify an

inclusive Classroom ?

(1) Offering differentiated instruction

(2) Encouraging competitive ethos

(3) Incorporation of diverse perspectives

(4) Following reasonable accommodation
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An elementary school teacher can strongly influence

students” development of academic self-concept by:

(1) Rewarding autonomy and initiative in students

(2) Keeping very low expectations from special
students:

(3) Keeping very low expectation from all students

(4) Punishing autonomy and initiative in students

According to Lev-Vygotsky children benefit from the

experience of interacting with while working
their zone of proximal development.

(1) the physical environment; within

(2) the physical environment; just outside

(3) more knowledgeable others; within

(4) more knowledgeable others, just outside

Assertion (A): There is no objectively definable

moment when a child enters middle childhood and

adolescence.

Reason (R): Development is continuous in nature.

Choose the correct option.

(1) (A) is true but (R) is false.

(2) Both (A) and (R) are false.

(3) Both (A) and (R) are true and (R) is the correct
explanation of (A).

(4) Both (A) and (R) are true but (R) is not the correct
explanation of (A).

In a progressive classroom assessment is :

(1) Summative (2) Normative

(3) Dynamic (4) Objective

In order to address the individual differences

among, learners, a teacher should :

(1) consider differences as obvious feature of human
diversity

(2) implement a rigid and uniform curriculum for
all learners

(3) acknowledge differences as abnormal and kind
of deficit

(4) be indifferent towards individual differences

Alok shows the following behaviours: Holds head
in an awkward position when reading; squinting
and rubbing the eye frequently; redness/swelling of
eyes; Confusing letters. These can be symptoms of
potential :

(1) Autistic spectrum disorder

(2) Communication disorder

(3) Visual problems

(4) Language comprehension problems

Which of the following describes a mastery goal

orientation ?

(1) focus on achieving a high grade for receiving
external rewards,

(2) focus on avoiding failure or punishment for fear
of humiliation.

(3) focus on achieving a certain level of performance
for competing with others.

(4) focus onimproving ones skills and understanding
of a task.

According to Jean Piaget the ability to use symbols
for symbols such as letting the letter X stand for an
unknown numeral develops during and enables the
children to learn.

(1) formal operational stage; algebra and calculus
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(2) formal operational stage; conservation and
seriation

(3) concrete operational stage; algebra and calculus

(4) concrete operational stage; conservation and
seriation

Assertion (A): Students are more likely to do well
and stay in school if they have emotional attachment
to their school and believe that they matter.

Reason (R) : Emotions play a significant role in
learning

Choose the correct option.

(1) (A) is true but (R) is false.

(2) Both (A) and (R) are false.

(3) Both (A) and (R) are true and (R) is the correct
explanation of (A).

(4) Both (A) and (R) are true but (R) is not the correct
explanation of (A).

Which of the following best describes the role of the

teacher in progressive education ?

(1) The teacher is responsible for ensuring strict
adherence to curriculum standards.

(2) The teacher gets the children learn independently
and does not interfere in their learning.

(3) The teacher is the primary source of knowledge
and authority in the classroom.

(4) The teacher provides diverse materials for
children to experiment and provides scaffolding
as and when required.

Which of the following statement about adolescence

is not correct?

(a) It is a linear process.

(b) It is a complex process.

(c) It is a multidimensional process.

(d) It takes place uniquely in different cultures,

@) (), (@), (d) (2) (a), (b), (c), (d)

() (a), (b) @ (), (9

Which of the following statement adolescence is not

correct ?

(1) Adolescence is development transition between
childhood and adulthood entailing physical,
cognitive and psychosocial changes.

(2) Children across different cultures usher in and
experience adolescence in a similar manner.

(3) Adolescence is a social construction.

(4) Adolescence is generally considered to begin
with puberty - the process that leads to sexual
maturity and the ability to reproduce.

Work in progress Portfolios are an effective tool for

formative assessment because :

(1) They involve students in the process of
assessment

(2) They offer insights about the progress of
individual students.

(3) They focus mainly in the presentation of the
final product.

(4) They offer tangible evidence of student learning.

A middle school teacher wants to enable meaningful

learning by helping students make corrections

between concepts and real-world applications.

Which of the following activities would be an

appropriate pedagogical strategy?

(1) Let the students learn by the method of stimulus-
response conditioning.
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(2) Let the students research on a current issue in
small groups and present their findings to the
class.

(3) Let the students memorize terms and definitions.

(4) Let the students complete worksheets with
multiple choice questions.

26. Sujata participates eagerly in the dance competition
only because she is interested in winning the first
prize of cash. Sujata is :

(1) Mastery-Oriented learner

(2) Failure-avoiding learner

(3) Intrinsically motivated

(4) Extrinsically motivated

27. Which of the following is an example of a question
that requires students to analyze information ?

(1) How does the author use symbolism in “To Kill a
Mockingbird”?

(2) Whois the protagonist of “To Kill a Mockingbird”?

(3) What is the plot of the novel “To Kil a
Mockingbird” ?

(4) What is the theme of the novel “To Kill a
Mockingbird”?

28. Jean Piaget believed that knowledge is :

(1) co-constructed in interactions with more
knowledgeable others.

(2) a visible behavioural change that can be
measured with reliability.

(3) constructed by the child rather than being
passed passively from the environment.

(4) innate and given rather than acquired through
interactions.

29. The Central argument of Carol Gilligan's critique of
Kohlberg's theory of moral development is around :
(1) Use of experimental design in studying children
(2) Educational implications of the study for school
going children.
(3) Ethics of care and the feminist perspective
(4) Overestimation of children’s moral abilities.

30. Assertion (A): The less able a child is to do a task the
more directions the teachers should give and as the
child can do more and more the teacher should help
less and less.

Reason (R): Intelligence cannot be accurately
measured by calculating 1Q.

Choose the correct option.

(1) (A) is true but (R) is false.

(2) Both (A) and (R) are false.

(3) Both (A) and (R) are true and (R) is the correct
explanation of (A).

(4) Both (A) and (R) are true but (R) is not the correct
explanation of (A).

Mathematics and Science

Direction: Answer the following questions by selecting the

correct/most appropriate options.

31. Three numbers are in the ratio 2 : 3 : 4 and the sum
of their cubes is 33957. What is the sum of the three

numbers?
) 72 @) 81
(3) 54 (4) 63

32. Three consecutive integers are such that when they
are taken in increasing order and multiplied by 3, 5

33.
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and 2, respectively, they add up to 99. What is the
sum of the original first and third integers?

1) 20 @) 24

(3) 16 4) 18

A student listed the following properties of Rational
Numbers. Which one/ones is/are correct?

(a) A rational number includes integers

(b) 0 (zero) is not a rational number

(c) All fractions are rational numbers

Choose the correct option.

(1) Only (c) (2) (a) and (b)

(3) (a) and () (4) Only (b)

The area of the curved surface of a right circular
cylinder is 4400 cm? and the circumference of its

22
base is 110 cm. Its volume (in m3) is : | Use 7= b

(1) 0.0285 (2) 0.0382

(3) 0.0284 (4) 0.0385

In triangle, PQR, ZP = 55° and QR = 18 cm. In
which of the following cases, APQR can be an obtuse
scalene triangle?

(1) £R = 65° and PQ > 18 cm

(2) 4R = 35° and PR = 18 cm

(3) 4R = 25° and PQ = 18 cm

(4) 4R = 15° and PR > 18 cm

Concept was labelled as 'Schema' by:

(1) Bruner (2) Van Hieles

(3) Vygotsky (4) Piaget

A N AW
If f:(fj —(5) , then what is the value of

3
W @ -2
_3 19
6 O

IfA=-2x2+12x, B =11-8x + 3x% C = 17 — 4x?
and D = x2— x — 3, then what is the sum of the co-
efficients of x>and x in (A + B + C - D)?

11 23

30 4 -1

BD is the diagonal of parallelogram ABCD such that
ZCBD = 12x, ZABD = 7y, ZADB = 60° and ZCDB
= 28°. Then, the value of 2x + 3y is :

1) 22° @) 23°

(3) 20° @) 21°

If x = 1.011 + 10.11 — 12.101 + 0.1011, then what
should be added to x to get the sum as 1.1?

(1) 0.2211 () 11311

(3) 1.9789 (4) 03111

If a 8 - digit number 947 1 x 9 y 2 is divisible by 72,
then which of the following statements is not true?

(1) x=9andy =5 2 x=3andy=1
(B)x=8andy=5 4 x=4andy=9

One of the factors of p°x + p(x —y) —p(y + z) -z is :
(1) p’x - py -z (2) p’x +py -z

@) x—py + z @) px +py +2
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If the median of the data 30, 8, 7, 3, 17, 15, 21, 24,

29, 23 is x and the median of the data obtained by

replacing 3 by 33 and 8 by 18 in the above data is y,

then what is the difference between y and x?

13 (2) 4

G)1 @) 2

A middle school mathematics teacher poses the

following question to her class.

(a) The height of participants in an athletics meet

(b) The number of passengers boarding trains from
9:00 am to 9:00 pm at a stration".

The intention of the teacher is to-

(1) Teach line graph through contextual situations

(2) Teach the use of historams for data representation

(3) Help learners to understand the difference
between bar graph and line graph

(4) Introduce the concept of pie charts.

In triangles ABC and DEF, ZB = 90°, BC = 8 cm, ZA
= 40°, DE = 8 cm, ZF = 40° and ZE = 90°. Then,
which of the following statements is true?

(1) AABC = ADEE by AAS

(2) AABC = AFED, by AAS

(3) AABC = ADEE by RHS

(4) AABC = AFED, by RHS

The lengths of the parallel sides of a trapezium are
11 cm and 25 cm and the distance between them is
12 cm. Its area is equal to the area of a rectangle
whose sides are in the ratio 3 : 2. What is the
perimeter (in cm) of the rectangle?

(1) 60 (2) 70

(3) 40 4) 50

A class VI mathematics teacher posed the following
problem to her students:

"In a morning walk, three persons started together.
Their steps measure 70 cm, 85 cm and 95 cm respec-
tively. What is the minimum distance each should
walk so that all can cover the same distance in com-
plete steps?"

Which of the following concepts would be required

to solve the given problem?

(1) Concept of division (2) Concept of proportion

(3) Concept of HCF (4) Concept of LCM

National Education Policy (NEP) 2020 recommends

that Sports Integrated Pedagogy needs to be used

in classroom teaching. Which among the following

are correct in the context of using sports integrated

pedagogy in mathematics classroom?

(a) Teaching-learning process shall become joyful

(b) It is not possible to use sports for teaching
mathematics

(c) It will be time consuming and hence needs to be
avoided

(d) Apart from popular sports, there are many
indigenous sports which can be used in teaching
mathematics.

Choose the correct option.

(1) (a) and (d) (2) (b), (c) and (d)

(3) (a) and (c) (4) (b) and (c)

The difference between two supplementary angles
is 20°. If the smaller of these angles is p, then the
value of 3p — 50° is :

(1) 250° (2) 190°

50.
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(3) 310° 4) 270°

Teacher conducted an oral assessment in class and
found that Ram can speak definition of all types
of numbers-odd, even, prime, and composite
accurately, but not able to identify the numbers
accurately when given a set of numbers.

Which of the following is most appropriate for the

above situation?

(1) Ram has good memory but lacks conceptual
understanding

(2) Ram has analytical ability

(3) Ram has good memory but lacks practice

(4) Ram has good memory but lacks concentration.

Mathematics is a way of thinking since:

(a) It provides an opportunity for students to
engage in proofs and examining patterns.

(b) Students reproduce formulae and symbols
during probem solving

(c) Students use appropriate strategies for solving
various new problems

Choose the correct option.

(1) () and (c) (2) Only (b)

(3) (a) and (b) 4) (b) and (c)

x varies inversely as y. When x = 3.5, then y = 2.4.
What is the value of y when x = 5.6?

(1) 21 (2) 2.8

(3) 14 4 15

The following table shows the number of different
fruits kept in a carton:

Types of| Mangoes
fruits

Guavas | Pome-
granates

Apples | Oranges

Number 44 56 42 30 38

54.

55.

56.

If a pie chart is constructed for the above data, what
will be the angle of the sector representing apples?
(1) %6° (2) 100.8°

3) 79.2° 4 72

A shopkeeper sells an article for ¥ 324 after giving a
discount of 28% on its marked price. The cost price
of the article is ¥ 300. If he sells the article by giving
18% discount on its same marked price, then what
will be his profit percent?
1) 23%

3) 10%

(2) 24%
@) 19%

40
The product of two rational numbers is —?- If one

5
of the two numbers is Y then the reciprocal of
the other number lies between:

1 1 1 1
1) — and — 2) — —
()Sam4 ()4ar1d3

9

3) 3 and —
20 50

4) 2 and 1

50 5
The number of vertices (V), edges (E) and faces (F)
of a polyhedron are respectively 10, 15 and x. Then
the value of (3x — 12) is :
1) 14
)7

@) 18
@) 9
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A student was given the following problem on
percentage to solve.

"Find the percentage of decrease if the population of
a city decreased from 28,000 to 26,500."

She wrote the following solution.

Original population = 28,000; New population =
26,500

26,500
% decrease = 28,000

x100 =94.6%

Which of the following is most appropriate with

respect ot the response of the student?

(1) Student does not know the
percentage.

(2) Student has made a careless mistake

(3) Student is able to understand the concept
of percentage but is not able to understand
percentage of which quantity is to be found.

(4) Student has solved the question correctly but
had used wrong symbols in solution.

concept of

A box opened at the top is made of wood of
thickness 3 cm. Its external length, breadth and
height are respectively 1.48 m, 1.16 m and 83 cm
(base = length X breadth). What will be the cost of
painting its inner surface at ¥ 150 per m??

(1) T 841.40 (2) T 842.50

(3) ¥ 838.20 (4) ¥ 839.10

Which among the following Learning-Teaching
Resources (LTRs) are most appropriate for visually
challenged students in mathematics classroom?

(a) Geogebra (b) Taylor's abacus

(c) Computer (d) Spreadsheet

Choose the correct option.

(1) (b) and (c) (2) (b), () and (d)

(3) (a) and (b) @) (c) and (d)

Which of the following is not a dimension of
assessment of mathematics learning?

(1) Disposition towards mathematics

(2) Mathematical reasoning

(3) Communication

(4) Patterns and procedures

Which is the following is NOT indicative of the

hypothesising skill?

(1) Using the senses to gather information

(2) Identifying variables for an experiment

(3) Formulating questions which lead to inquiry

(4) Attempting to explain observations or relation-
ships in terms of some principle

Identify the correct statement(s):

(a) A fact is observation that has repeatedly been
found to be true over the time.

(b) Alaw is a theory that has repeatedly been found
to be true over the time.

(1) Only (b) (2) Neither (a) nor (b)

(3) Only (a) (4) (a) and (b)

Which of the following plant disease(s) are caused

by bacteria?

(a) Rust of wheat

(b) Citrus canker

(c) Yellow vein mosaic of bhindi

(1) (b) and (c) (2) Only (c)

(3) (2) and (b) (4) Only (b)
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A teacher, while teaching the chapter 'Body Move-
ments' to class VI students shows the following im-
ages to her students:

A sailing boat, swimming fish and a flying aeroplane.
She then asks the students to reflect on the shape of
the images and the manner of movement. Which of
the following are likely to be employed by students
in answering?

(a) Classifying

(c) Inductive reasoning
(1) (c) and (d) (2) (a) and (d)

(3) (a) and (b) (4) (b) and (0

Match the substances with the categories mentioned.

(b) Observing
(d) Measuring

Column A Column B
A. |Slaked lime |(i) |Calcium oxide
B. |Table salt (ii) |Sodium bicarbonate
C. |Limestone |(iii) |Calcium carbonate
D. |Caustic soda |(iv) |Calcium hydroxide
E. |Quicklime |(v) |Sodium hydroxide
E  |Baking soda |(vi) |[Sodium chloride

Choose the correct option.

(1) A-(@i), B-(vi), C-(iii), D-(v), (E)-(ii), F-(iv)
(2) A-(iv), B-(v), C-(iii), D-(ii), (E)-(i), F-(vi)
(3) A-(iv), B-(vi), C-(iii), D-(v), (E)-(i), F-(ii)
(4) A-(vi), B-(ii), C-(v), D-(@i), (E)-(iii), F-(iv)
Read the following text:

When a negatively charged rod is brought near an

uncharged electroscope.

(a) the electroscope leaves move further apart

(b) both the electroscope leaves acquire similar
charge

(c) the negative charges pass on to the electroscope
causing its leaves to move further apart of the
aobve three statements:

(1) (a), (b) and (c) are observations

(2) (a), (b) and (c) are inferences

(3) (a) is an observation while (b) and (c) are
inferences

(4) (@) and (b) are observations and (c) is an
inference.

Read the following statements and choose the
correct option.

Assertion (A): The stars in the night sky appear to
move from east to west.

Reason (R): The earth rotates from west to east.

(1) (A) is correct but (R) is incorrect.

(2) (A) and (R) are both incorrect.

(3) (A) and (R) are both correct and (R) is the correct
explanation of (A).

(4) (A) and (R) are both correct but (R) is not the
correct explanation of (A).

A box of mass 500 g is lying on a horizontal table.

Which of the following statements is true regarding

the force(s) acting on it? [g = 10 m/s?]

(1) A pair of balanced forces acts on it

(2) An unbalanced force of 5 N acts on it in the
upward direction

(3) No force acts on it

(4) An unbalanced force of 5 N acts on it in
downward direction
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Which of the following best explains the statement

'science promotes scepticism'?

(1) Scientists do not trust the findings of other
scientists

(2) Scientists are open-minded and willing to modify
their ideas

(3) Scientists judge the validity of a claim based on
objective empirical evidence

(4) Science is purely inductive in nature

X and Y are thick, black liquids which can be used
for metalling the roads. X is derived from petroleum
and Y is derived from coal. Which of the following
can X and Y respectively be?

(1) Charcoal, Bitumen  (2) Coal Tar, Bitumen

(3) Bitumen, Coal Tar (4) Coal Tar, Charcoal

Which of the following is the most suitable reason

behind Newtons theory of gravitation being

regarded as an excellent theory?

(1) It has been formulated using the precise lan-
guage of mathematics

(2) It has been developed over a long period of time

(3) It explains larger number of observations by
making fewer assumptions

(4) It has been arrived at after thorough experimen-
tation

Find the set that correctly matches the plants with

the mode of asexual reproduction which they

exhibit.

Column A Column B
A. |Rose (i) |Budding
B. |Yeast (ii) |Spore formation
C. |Ferns (iii) |Fragmentation
D. |Spirogyra (iv) |Pollination
(v) |Vegetative propagation

Choose the correct option.

(1) A~(v), B~(ii), C-(ii). D-(i)

(2) A-(iv), B-(iii), C-(i). D-(ii)

(3) A-(v), B-(i), C~(ii). D~(ii)

(4) A~(iv), B-(i), C-(v). D~(iii)

Read the following statements carefully and select
the correct option.

S1: Rayon is a synthetic fibre.

52: Rayon is made without using any natural raw

material

(1) S1is false and S2 is true

(2) Both S1 and S2 are false

(3) Both S1 and S2 are true

(4) S1is true and S2 is false

Which of the following would be a most suitable

strategy to introduce the topic 'deficiency diseases' at

upper primary level?

(1) List the various nutrients and the functions they
perform in human body.

(2) Hold a discussion on common human diseases.

(3) Provide a definition of balanced diet and intro-
duce the concept of deficiency.

(4) Arrange for a doctor's prescription pertaining to a
deficiency isease and hold a discussion around it.

75.
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Consider the test item given below and match the
following :

Column A Column B
A. |Unit of force (i) |joule
B. |Symbol of iron (i) |HCl
C. |Formula of (iii) |Ag

hydrochloric acid
D. |Unit of work (iv) _| I ||||_
E. |Symbol of silver (v) |Calorie
E.  |Symbol of battery (vi) |Fe

(vii) | Newton

Which of the following is not a reason that can be

given to justify that the item is poorly constructed?

(1) The matching pairs can be easily guessed

(2) There is inconsistency among entries

(3) For an entry in column A here are at the most two
plausible entries in column B

(4) There are unequal entries in column A and B

A body has a linear momentum of p and a mass of m.
The kinetic energy of the body is :

2
(1) 571 @) pm

@) p*m @) 2p’m

Which of the following statements regarding rusting

of iron are true?

(a) It involves a chemical reaction between iron and
oxygen

(b) Itis an exothermic reaction

(c) It can take place at room temperature

(d) Itis reversible reaction

(1) (a)and (d) (2) (a), (b) and (c)

() (@), (b), (d) (4) (b)and ()

Identify the correct statements from the following:

(a) Generally non-metals do not react with water.

(b) Generally non-metals do not react with acids.

(1) Both (a) and (b) (2) Neither (a) nor (b)

(3) Only (a) (4) Only (b)

Which of the following is the most suitable strategy

for introducing the students to the concept of

'chemical reactions' at upper primary level?

(1) Define a chemical reaction and give examples

(2) Hold a discussion on chemical reactions which
students are likely to have observed in their lives

(3) Explain the concept of valence electrons and
electronic configuration

(4) Write the chemical equations in symbolic form
and ask students to observe

Read the following paragraph carefully and select the
option which would correctly fill in the given order.

Sound is produced by vibration and different musical
instruments have specific vibrating parts. Ina _ X

the sound is produced by stretched strings,ina _ Y
it is the stretched membrane that vibrates and in a
__Z__ the vibrating part that produces sound is the

air column.

X, Y and Z can respectively be :
(1) guitar, tabla, shehnai
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(2) ektara, violin, piano
(3) sitar, harmonium, dholak
(4) dholak, ektara, mouth organ

Which of the following statement(s) is correct?

(1) Fertilisers provide a lot of humus to the soil

(2) Fertilisers increase the number of friendly
microbes in soil

(3) Fertilisers are richer in specific nutrients as
compared to manure

(4) Fertilisers enhance the water holding capacity of
the soil

Which of the following is not desirable with respect

to carrying out of a classroom demonstration by a

teacher?

(1) Supplement the demonstration with explanations

(2) Follow up the demonstration with discussion

(3) Rehearse the demonstration before carrying it out
in class

(4) Emphasise before hand the linkages that students
are required to make

A ball is thrown up in the air. It reaches a maximum

height and then returns to the thorwer.

Which of the following quantities have the same

values during the upward and downward motion of

the ball?

(1) Work done by gravity (2) Acceleration

(3) Force of gravity (4) Displacement

Seed dispersal may be said to help the plants in all of

the following except:

(1) produce new varieties

(2) over crowding

(3) avoid competition for sunlight, water and
minerals

(4) invade new habitats
X is a device which is used to see around

corners and is based on the principle of _X . X and

Y respectively are:

The underlined word can be replaced the word.

(1) Periscope, dispersion

(2) Telescope, reflection

(3) Kaleidoscope, refraction

(4) Periscope, reflection

The difference between maximum and minimum

resistance that can be obtained by connecting three

1 ;
resistances 3 Q of each is:

SRR 2 20

M 5 @ 3
8

@ 59 @10

Which of the following gases are responsible for acid
rain?

(a) Nitrogen
(c) Ozone

(e) Nitric oxide
(1) (d) and (e)
(3) (b) and (c)

(b) Oxygen
(d) Sulphur dioxide

(2) (a) and (b)
(4) (9 and (d)

88.

89.

90.
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Read the following statements and select the correct

option.

Assertion (A): Dried raisins when left in plain water

for sometime swell due to osmosis.

Reason (R): Plant cells have a selectively permeable

cell membrane.

(1) (A) is incorrect but (R) is correct.

(2) (A) and (R) are both correct and (R) is the correct
explanation for (A)

(3) (A) and (R) are both correct but (R) is not the
correct explanation for (A)

(4) (A) is correct but (R) is incorrect

Which of the following is a set of animals in which

all show external fertilization?

(1) Frogs, fish, starfish

(2) Hens, lizards, butterflies

(3) Lizards, butterflies, frogs

(4) Butterflies, frogs, fish

Which of the following element must be available in

water for the metamorphosis of tadpoles?

(1) Chlorine (2) Bromine

(3) Sulphur (4) Iodine

Language-I: English

Direction (91-99): Read the passage given below and
answer the questions that follow by selecting the correct/most
appropriate options.

1.

91.

92.

We were walking across the garden when my
daughter spotted a cluster of familiar red flowers.
She pulled me to one side and then, looking excitedly
at me as though she had a secret to share, she pulled
me down to her height and whispered in my ears. I
shot up straight almost as soon as she had finished
her sentence. With my mouth ajar, I was about to
tell her that it was probably not a good idea to do so
when I was transported to time when I was around
her age.

It had been a rather long day from school and I was
dead tired. I was walking along the pathway that
was lined with many ixora plants when my friend
grabbled me by the arm. Before I could do anything,
he gleefully plucked a single flower from the cluster
and showed it to me. Unimpressed. I was not about
to be swayed by a puny flower and was about to
admonish him when he turned the flower upside
down to show me a tiny almost invisible thread like
thing that protruded out from its stalk.

He pulled the faint yellowish thread and right at the
end of it, a tiny drop of nectar appeared. At least,
that was what I think it was, as it was really quite
sweet. That day we raided the ixora plants, We really
had a lot of fun, I could still taste the sweetness till
today. My daughter's urgent tug brought me back
to reality. I turned to my daughter and decided that
she too needed to know the joy of tasting set nectar
from beautiful bloom:s.

Identify the parts of speech of the underlined words.
I was transported to the time when I was around her
age

(1) noun, preposition (2) noun, adverb

(3) noun, verb (4) adjective, preposition
From the given anecdote one can assume that the 2
characters shared the relationship of:

(1) school-mates

(2) grandmother and grand-child
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(3) best friends
(4) mother and daughter
93. 'T was about to admorish him ......... .
The underlined word can be replaced the word.
(1) refuse (2) cajole
(3) appreciate (4) reprimand
94. 'to be transported in time' means
(1) recollect memories of the past
(2) to take future decisions
(3) travel backwards
(4) to indulge in time travel
95. 'To be dead tired' does not mean-
(1) to be completely exhausted
(2) to feel refreshed
(3) to feel too tired to walk
(4) to be exhausted
96. Complete the word analogy :
cluster : bunch : : puny: 2
(1) prickly (2) long-stalked
(3) delicate (4) colourful
97. In para 1, according to the mother it was not a good
idea to:
(1) walk in the garden the whole day
(2) walk along the pathway alone
(3) taste sweet nectar from flowers
(4) raid the ixora plants

98. Assertion (A): The child was excited to share a secret
with her mother.

Reason (R): The mother was in disbelief and went
down memory lane.

Choose the correct option.
(1) Both (A) and (R) are true but (R) is not the correct
explanation of (A).
(2) Both (A) and (R) are true and (R) is the correct
explanation of (A).
(3) (A) is correct, but (R) is incorrect.
(4) Both (A) and (R) are correct.
99. Read the following sentences
(a) The writer is traumatised by the memories of her
childhood.
(b) The daughter's secret brings back nostalgic
memories of the school days.
(c) The writer wants her child to be connected to the
sweet pleasures of nature.
(1) (a) and (b) are correct, (c) is incorrect
(2) (b) and (c) are correct, (a) is incorrect
(3) (a) and (c) are correct, (b) is incorrect
(4) (a) and (c) are incorrect, (a) is correct
Direction (100-105): Read the given extract and answer the
questions that follow.

My tea is nearly ready and the sun has left the sky;
Its time to take the window to see Leerie going by;

For every night at tea time and before you take your
seat,

With lantern and with ladder he comes posting up
the secret.

Now Tom would be a driver and Maria may go to
the sea;

And my papa's a banker and as rich as he can be;

But I, when I'm stronger and choose what I'm to do,

O Leerie, I'll go around at night and light the wit
you

For we are very lucky, with a lamp before the door

69

And Leerie stops to light it as he lights so many more

And O! Before you hurry by with ladder and with
light,
O Leerie, see a little child and nod to him tonight!
100. The poet looks at the lamp-lighter's profession with-
(1) curiosity (2) confusion
(3) wonder (4) jealousy
101. The phrase, “the sun has left the sky’ indicates that -
(1) it is afternoon (2) it is evening time,
(3) it is morning (4) it is forenoon
102. Identify the rhyme scheme in lines 5 - 8,
(1) abab (2) aaba
(3) abba (4) aabb
103. Why does the poet consider himself to be fortunate ?
(1) He has light at night by his door.
(2) He is strong and doesn’t have to make a choice
in life.
(3) He has a rich banker father.
(4) He doesn’t have to light other peoples” doors.
104. Read the following sentences
(a) The poet occasionally alight outside his door
(b) The poet wants to be a bunker like his father
when he grows up.
(c) The poet is fascinated by the lamp lighter's
profession.
(1) (a) and (b) are incorrect, (c) is correct
(2) (a) and (b) are correct, (c) is incorrect
(3) (a) and (c) are correct, (b) is incorrect
(4) (b) and (c) are correct, (a) is incorrect
105. With reference to the poem, complete the word

analogy:

Leerie : lamplighter : : father : 2

(1) sailor (2) banker
(3) rich businessman (4) driver

106. Which of the following is NOT true of Sign
Language?
(1) Sign language does not have a grammar
(2) Sign language has a grammar
(3) Sign language has many varieties
(4) Sign language is a natural language

107. Following learning task was given to learners in
different groups. Find out what is this vocabulary
learning activity known as.
Find words and phrases which relate to the following
words.

Relationship

(1) Cluster Vocabulary  (2) Word Web
(3) Thematic Vocabulary (4) Word clusters
108. Procedural knowledge in the teaching-learning
grammar is
(1) knowing the rules of the grammatical item,
(2) knowing the language and its culture.
(3) knowing how to do the grammatical item.
(4) knowledge about the grammatical item,

109. A leaner reads through the news item in the
newspaper to know specific information. This
reading is known as
(1) Scanning
(3) Critical reading

(2) Study skill
(4) Skimming

110. A language teacher tells a story in English and asks
learners to work in group to tell the story in the
languages known to ER and then in the common
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language of the classroom. What is this pedagogical

strategy known as ?

(1) Multilanguage teaching

(2) Language acquisition

(3) Transtanguaging

(4) Multilingual policy

Shreya is a Class VI learner who moves from the

Jalandhar in Punjab to Madurai in Tamil Nadu as her

father has been transferred. She knows Punjabi as

her mother tongue and English language she studies
as her second language in school. She is able to speak
and read Tamil learning from her neighbourhood.

Which one of the following statements is true based

on the languages she now knows?

(1) All the three languages, Punjabi, Tamil and
English under language learning

(2) Her English comes under language acquisition
and Punjabi and Tamil come under language
learning.

(3) Her Punjabi and Tamil come under language
acquisition and English comes under language
learning.

(4) Her Tamil comes under language acquisition
and English and Punjabi come under language
learning.

A teacher of Class VII conducts a pair work activity
in which the pairs are given a story of ten sentences
One in the pair reads out the first sentences and the
other in the pair writes that sentence. Then other in
the pair read out second sentence and the first in the
pair writes the second sentence. Likewise the pairs
complete the whole story. Later they compare their
writing with the original text given to them. What is
the activity known as?

(1) Sentence Dictation  (2) Mutual Dictation

(3) Mutual Writing (4) Mutual Listening

The language we use for day-to-day, face-to-face

interaction is known as:

(1) Communicative language skills

(2) Interpersonal language proficiency

(3) Cognitive Academic Language
(CALP)

(4) Basic Interpersonal Communication Skills (BICS)

A teacher at the secondary Stage gives a text/short
story and asks them to read and discuss the meaning
and ideas of the text from the point of view of
power and justice. What does the teacher attempt to
develop in the learners ?

(1) Critical language development

(2) Higher order language skills

(3) Critical literacy skills

(4) Critical pedagogy

A method of teaching in which a teacher and four
students form a collaborative learning group with
different roles. Dialogues occur on the content of
the text passage, which creates a zone of proximal
development in which reading comprehension
improves. This method is referred to-as:

(1) Structural Approach

(2) Model Reading

(3) Grammar Translation Method

(4) Reciprocal Teaching

Proficiency

Remedial teaching is for ;
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(1) learners and teachers to understand and modify
improve their teaching, learning strategies.

(2) learners and teachers to enhance the scores in
the examination in language paper.

(3) learners who need attention on certain aspects of
language learning.

(4) teachers who need to modify their teaching for
certain student to learn the language.

What is 'interlingual identification'?

(1) Learner's judgment that the knowledge of the
native language interferes in the learning of
second language.

(2) Learner's understanding that learning
different languages warrants different abilities.

(3) Learner's judgment that something in the native
language and something in the target language
are similar.

(4) Learner's judgment that something the native
language and something in the target language
are dissimilar.

of

Malayalam spoken by a particular community in
Kozhikod is slightly different from the Malayalam
spoken by others in the same place. What is the
Malayalam spoken by the particular community
known as?

(1) Social dialect of Malayalam

(2) They are two different languages

(3) Two varieties of Malayalam

(4) Regional dialect of Malayalam

Which of the following is NOT the purpose of
extensive reading?

(1) Reading for learning grammar

(2) Reading for pleasure

(3) Reading for approciation

(4) Reading for extrapolation

Which one of the following is true of the three

language formula?

(1) Mother tongue/home language/Hindi as the first
language

(2) Mother tongue/home language/English as the
first language

(3) Mother tongue/home  language/
language as the first language

(4) English/Hindi/home language/local language as
the first language

HToT-1s 1%-&

regional
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A STARfed B | BH 98 T e Wehdl ok 39 SRR wIeA
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Language-Ii: English

Direction (91-99): Read the passage given below and
answer the questions that follow by selecting the correct/most
appropriate options.

1.

'The loss in earnings that farmers see due to extreme
weather events or erratic seasonality is, by now,
accepted as the most widely felt economic impact
of climate change. Farmers were the first people to
feel the impacts of climate change, which ultimately
affects the country's overall agricultural output and
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121.

122.

123.

124.

125.

adds to food inflation. High food prices, in turn,
could result in people slashing down consumption,
which adversely te nutritional security.

A significant number of farming households produce
food for their own consumption. These households
have given birth to an old saying: those who eat their
own food are the healthiest. In countries like India,
where malnutrition is high and fixed insecutiry is
a nagging constant, such households have used
the home production system to remain out of this
crisis. As studies point out, these households are also
protected from market fluctuations, thus ensuring
that they can afford healthy food. Obviously, they
are not impacted by food inflation either.

But there are serious conversations taking places
over how climate change induced extreme weather
events would impact such households. We need
to understand the link between nutrition intake
and households food production and wheather
weather fluctuations would have any impact on
this. Researchers have analysed village level data
from households with their own food production
and consumption, and co-related this with the
local weather conditions to inter whether there
was a correlation. The paper establishes that people
growing their own food consume more, thus adding
to nutrition levels and attaining overall food security.
There was also reduction in child stunting and
underweight conditions as well as women achieving
a normal body mass index. These trends are more
pronounced in remote vilages.

Complete the given work analogy :

local : global : : erractic : ?

(1) disputable (2) dependable

(3) believable (4) consistent

As mentioned in para 1, what is the series of events
that are triggered by climate change?

(a) increase in prices of food items

(b) detrimental effect on nutritional security

(c) extreme weather conditions

(d) reduced food consumption

(1) (b), (9), (d), (a) (2) (9), (b), (d), (a)

(3) (a), (d), (¢), (b) @) (o), (a), (d), (b)

What is correct about the health status of farmers
who take to household food production?

(1) stunted growth of children

(2) wonen with higher body mass index

(3) children and malnourished

(4) better nutritional intake

Read the following sentenes:

(a) Asignificant number of Indian households afford
healthy food.

(b) Household food production has limited in on
food inflation

(c) Food insecurity in an occassional phenomenon
in India.

(1) (a) and (b) are incorrect, (c) is correct

(2) (b) and (c) are incorrect, (c) is correct

(3) (a), (b) and (c) are all incorrect

(4) (a) and (c) are incorrect, (b) is correct

Which statement is incorrect with regard to

household food production ?

(1) Women enjoyed normal body mass index

(2) Increase in number of malnourished children
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(3) Nutritional intake was better
(4) Food consumption in such households was
higher
126. By which word can the underlined word be replaced
in the given sentence ?.

‘These trends are more pronounced in remote areas,’
(1) noticeable (2) ignored
(3) disrezarded (4) important

127. Identify the parts of speech of the underlined words,

A significant number of farming households produce
food for their own consumption.
(1) noun, adjective (2) noun, pronoun
(3) adjective, pronoun  (4) adverb, pronoun
128. Some households have remained out of the crisis of
food insecurity by adopting -
(1) protection from extreme weather conditions
(2) home production systems
(3) high food prices
(4) climate change conditions
Direction (129-135): Read the given extract and answer the
questions that follow:

1. Untouchable, a charming French comedy about two
friends who have almost nothing in common, has
been a huge internationa success. But below the
story became a cinematic sensation, how exactly did
a rich French aristocrat and an Algerian immigrant
with a criminal past become good friends? Philip
and Abdul first met in Paris in 1993 when Philip was
looking for a nurse. He was from a very wealthy
family. At one time he had been a successful business
man, living a life of great luxury. Then he had a
terrible paragliding accident and lost the use of his
arms and legs. Life in a wheelchair was lonely and
boring. Philip was struggling to imagine the future,
and he needed practical help with his day-to-day
life.

2. Philip interviewed more than 80 people for the job
of a nurse. But none of them seemed right. Then he
met Abdul, who had quit a life of crime in Algeria
and moved to France to look for work. He was lively,
intelligent and quick thinking, with a crazy sense
of humour. Philip got on with Abdul immediately,
and he affered him the job. The two men didn't
have much in common. Abdul loved pop music, but
Philip preferred classical music. Philip loved modern
art, but Abdul hated it. Philip's family was sure that
he had made a bad choice. They believed that Philip
needed someone much more sensible. Meanwhile,
Abdul wasn't planning on staying it he job for long.

3. However, their working relationship quickly
developed into a close friendship. Abdul gave Philip
the support he needed. More importantly, his energy
and sense of humour brought fun and excitement
back into Philip's life. Abdul helped Philip make
trips to other countries. Both of them now live in
different countries each with a wife and family.
They keep in touch regularly. All that really matters
to their friendship though, it is their shared love of
laughter and adventure.

Which aspect of Abdul's personality is not true?
(1) He shared a close rapport with his employer
(2) He preferred listening to classical music

(3) He had a criminal past record

(4) He was quick-witted and supportive.

129.
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130.

131.

132.

133.

134.

135.

136.

137.

138.

Read the sentences given below :

(a) ‘'Untouchable’ is a French comedy movie.

(b) The theme revolves around 2 friends, Philip and
Abdul, who have similar tastes,

(c) The movie was a huge success in France and
Algeria.

(1) (b) and (c) are incorrect, (a) is correct

(2) (a) and (b) are correct, (c) is incorrect

(3) (a), (b) and (c) are all incorrect

(4) (a) and (c) are correct, (b) is incorrect

What bound the two very different men together for

years ?

(1) love for music

(2) their immigration status

(3) their love for adventure sports

(4) warm friendship

Complete the given word analogy:

Luxury : opulence : : sensation : 2

(1) feeling (2) suspicion

(3) disaster (4) callousness

Identify the parts of speec of the underlined words.

However, their working relationship quickly

developed into a close friendship.

(1) adjective, verb (2) noun, adjective

(3) adjective, adverb (4) verb, adverb

Abdul migrated to France to

(1) listen to pop music

(2) searchfor employment

(3) work in the movie industry

(4) run away from the Algerian police

Why did Philip need a nurse?

(1) To listen to classical music together

(2) To resolve Abdul's immigation status

(3) To wipe out Abdul's crimina past.

(4) To help him with day-to-day practical things of
life.

Which of the following is NOT true of National

Education Policy 2020 on language education?

(1) Study of Indian languages under three language
formula

(2) Study of English as languages under three
language formula

(3) Study of classical languages under three language
formula

(4) Study of mother tongue/home language under
three language formula

A teacher in class VIII read out a text of five sentences
in English twice and asked her learners to listen to
the text carefully. Then she asked them to work in
group of four to recreate text nearest to the one road
out, not exactly the same. What is the activity known
as?

(1) Collective Dictation (2) Listening task

(3) Writing task (4) Paragraph Dictation

Which of the following processes involved for

learning to write well in a language ?

(1) Braining storming - jotting down points =
writing the draft - editing - making an outline -
finalizing,

(2) Braining storming = jotting down points =
making an outline - writing the craft = editing =
finalising.

(3) Braining storming = making an outline - drafting
- jotting down points = editing - finalizing.

139.
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(4) Braining storming - jotting down points =
writing the draft - making an outline - editing -
finalising,

Which one of the following statements is true of

language learning, ?

(1) Knowledge of the native/ first language supports
in the learning of second language.

(2) First language learning and second language are
completely distinct.

(3) Knowledge of the native; first language interferes
in the learning of second language.

(4) Knowledge of the native, first language has
nothing to do in the learning of second language.

Elam is a student of class VI is able to speak four

languages, Kannada, Marathi, Hindi and English.

He uses all the four languages freely when he speaks

to his parents at home and in school he uses Hindi,

Kannada and English as these are the language

known to his friends and teachers. What is this

practice known as ?

(1) Code-moving (2) Interlanguage

(3) Transtingual ability  (4) Code-meshing

This refers to the proficiency in academic language

or language needed for various content areas.

(1) Communicative language proficiency

(2) Cognitive Academic Language
(CALP)

(3) Inter-language proficiency

(4) Basic Interpersonal Communication Skills (BICS)

Here is a situation where students were exposed

to the opposite perspective of the subject under

consideration to allow them to further understand it.

What does this process attempt to promote among

learners ?

(1) Critical Literacy

(2) Literacy development

(2) Critical analysis

(4) Process based pedapogy

A teacher of class VI brought items like spoon,

plate, utensils, boxes and pan to her classroom to

teach vocabulary from there writing a description of

objects in ‘kitchen, what are these objects known as

in language teaching ?

(1) Cooking items. (2) Real life tasks

(3) Teaching materials  (4) Realia

Learners in a class of Social Science try to capture

the main ideas of the classroom lecture and make

point of the lecture, What is this skill known as ?

(1) Writing skill (2) Cognitive skill

(3) Study skill (4) Listening skill

Learning outcomes attempt to enable learner to:

(1) attain minimum levels of learning of all skills.

(2) attain language components in measurable
terms.

(3) attain the grammatical knowledge in measurable
terms.

(4) attain the competencies in measurable terms.

What is Translanguaging’ ?

(1) It is a pedagogical process of using more than
one language as resources in a Classroom.

(2) It is language-in-education policy on how many
languages are to be taught in a school,

(3) It refers to moving from one language to another
language while teaching-learning languages.

Proficiency
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(4) It refers to understanding how languages change
over the period of time.

147. Here is a question, Read and find out which typology

of question it belongs to.

Having read the story of the little girl, you feel moved

by her suffering and courare to face the trouble. “You

would write a letter to the little girl appreciating her.

Write the letter in about 120 words,

(1) Extrapolative question

(2) Discursive question

(3) Expressive guesions

(4) Long answer question

Which one of the following is true of the three

Language formula?

(1) All children begin their schooling in the official
language. Hindi and move on to add at least
twao more languages by the time they complete
their high school

(2) All children begin their schooling in their mother
tongue/home languages and move on to add
at least two more languages by the time they
complete their high school.

(3) All children begin their schooling in the medium
of English/home language and move on to add
at least two more languages by the time they
complete their high school.

(4) All children begin their schooling in their state
language and move on to add at least two more
languages by the time they complete their high
school.

149. Which of the following methods advocates oral

drilling and mastery of the formal properties of

language as essential for language learning?

(1) Grammar translation method

(2) Total Physical Response

(3) Audiolingualism

(4) Communicative language teaching

Declarative knowledge is

(1) knowing how to identify an error in grammatical
item

(2) knowing how to do the grammatical item

(3) knowing to pronounce work in a language.

(4) knowing about the grammatical item
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Option (4) is correct.
Explanation: Dyslexia is a neuro-
logical condition that impacts the
learner's ability to link

sounds with symbols because

Dyslexia is commonly a ‘reading

disorder’ that leads to difficulty

with reading, spelling words and
writing.

+ Inthereference of the question,
the students/learners can be
confused about the sounds and
structure/shapes of the letters.

+ They also can face difficulties
while reading a particular
letter.

* They can also feel difficulties
with the recognition of letters/
symbols while learning,.

Option (3) is correct.
Explanation: Here, we need to
understand that the develop-
ment of humans is relatively
sequential and usually follows a
similar pattern. In reference to
question, when children learn
with concrete objects/real-life
objects, they can easily observe
things, and see use them in their
lives wonderfully. For this, the
human follows a specific pattern.
For example- if a child wants to
learn addition in maths, they can
initiate their learning by count-
ing things and add things by real
life objects.
Option (3) is correct.
Explanation: In reference to the
question, here we are talking
about critical questions in the
terms of gender stereotypes, the
critical thinking questions are
those where you can think in dif-
ferent directions about any topic,
similarly, if you are talking about
genders in favour or against
them, this will directly indicate
to the gender stereotypes in pos-
itive or negative aspects through
the media or textbook.

Option (1) is correct.
Explanation: In the reference
question, the inclusive classroom

is meant to be integrated, this
does not support any separations
or differentiations in terms of the
students/learners, the given rea-
son in the questions is wrong be-
cause the inclusive classroom al-
ways shows the flexibility either
the student is brilliant or dumb,
this accepts all kind of individual
differences.

Option (1) is correct.
Explanation: In the referenced
question, the teacher is dealing
with the student usually take
time to self-regulate or you can
say that they are less attentive
while taking lectures or while lis-
tening to something. In that way,
the teacher can give timers to stu-
dents for their self-regulation and
time management.

Option (3) is correct.
Explanation: In the referenced
question, the teacher also comes
from different social back-
grounds, they can also be biased
towards the students. In that way
the teacher should be culturally
responsive and reflective to make
the right decisions, in terms of
gender stereotypes and Biases.
Option (3) is correct.
Explanation: Attention is the pro-
cess that is essential in the mean-
ing-making of the information
received from the environment
and store it further in memory.
Attention is responsible for the
sequencing of the information
and limits in terms of the capabil-
ity and duration, in that way, we
need to manage the attentional
resources to make the world un-
derstandable.

Option (4) is correct.
Explanation: Kohlberg has given
the three levels of moral reason-
ing which are further divided
into two sub-stages in the Con-
ventional level (the second three
levels)  describes childeren's
usually internalizing the rules
and regulations and they make
their moral judgments as per the
norms and expectations of socie-
ty/group.

10.

11.

12.

13.

Option (1) is correct.
Explanation: In the referenced
question, the constructivistlearn-
ing theory always pushes the stu-
dents/learners to build/construct
something by their engagement.
Constructivist gives so much im-
portance in real-life knowledge
rather than passively taking in
information.

Option (4) is correct.
Explanation: According to Vygot-
sky, the teacher facilitates cogni-
tive development to guide and
support the student's learning by
scaffolding by dividing the con-
cepts into chunks to make them
understandable. In that way,
the students will brainstorm the
concept and will be able to use it
accordingly.

Option (2) is correct.
Explanation: Inclusive education
always supports integration and
unity among students. In that
way, inclusiveness never sup-
ports the competitive ethos, the
push the flexible work ability
among students.

Option (1) is correct.
Explanation: By developing
self-confidence and self-initiation
ability in students, the teacher
can strongly influence students’
development. In that way, you
can push students to develop
self-concept by thinking diverse-
ly and also, you can create a pos-
itive environment where the stu-
dents can openly speak and share
their thoughts openly.

Option (3) is correct.
Explanation: Vygotsky has de-
fined the “More Knowledgeable
Other” (MKO), where the MKO
is someone who has a little bit
more knowledge than the learn-
ers and can help to learn in any
specific task, concept or process.
The MKO provides temporary
help (scaffolding) per the need of
the learner in the specific space
which is called the Zone of Proxi-
mal Development (ZPD).
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14.

15.

16.

17.

18.

19.

Option (3) is correct.
Explanation: In the referenced
question, this is not compulsory
that every child deals with the
same moments when he or she
enters into the middle childhood
or adolescence. The given reason
is correct that development is a
continuous process, as you will
gain abilities, knowledge and
skills over time, but is not defi-
nite that every person grows in
the same pattern.

Option (3) is correct.
Explanation: According to John
Dewey, in the progressive class-
room, the students and teachers
both work actively, and cooper-
ate actively learning from each
other. In this environment, chil-
dren gain social and academic
knowledge from cooperative
learning efforts.

Option (1) is correct.
Explanation: Naturally, we do
have individual difference in,
even in animals and plants. In
that way, the teacher should ac-
cept the individual difference in
students as they have different
understanding and working abil-
ities, and the teacher should deal
with their students as per their
abilities.

Option (3) is correct.
Explanation: The following
symptoms in students deal with
visual difficulties while learning.
In the given conditions, the stu-
dents cannot see the blackboard
clearly at a distance, they may
face swelling or irritation in their
eyes, or they may also be distract-
ed or confused letters commonly
while learning. To prevent this,
they can consult with a doctor
or rinse their eyes with water in
normal condition.

Option (4) is correct.
Explanation: The mastery goal
orientation, where you will only
focus on new skills, improve-
ment, and acquisition of addi-
tional knowledge. This is not for
external motivation. The person
who has mastery goal orien-
tation, usually focuses on the
appropriate learning strategies,
challenging and engaging, and
develops a positive orientation
toward learning.

Option (1) is correct.
Explanation: Jean Piaget has giv-
en the 4 stages of development.

20.

21.

22,

In these stages, one of the stages
is formal operational stages (11
or above) where the students can
develops the ability to use sym-
bols for symbols such as letting
the letter X stand for unknown
numerals or students can meet
with the syllabus where they
can learn about the algebra and
calculus at the initial stage, and
develops the ability to think ab-
stractly and also understands the
structure of the problems.
Option (3) is correct.
Explanation: This is correct that
emotion plays an important role
in our lives. The aspects of stu-
dents, usually want school ac-
ceptance or want that school re-
spect their thoughts or ideas. In
that way, it is human nature that
if you have importance some-
where, you will automatically
feel like going there, to do things
there.
Option (4) is correct.
Explanation: In progressive edu-
cation, the teacher and students
are equally important. In pro-
gressive education, experience
or pre-knowledge is more im-
portant. In that way, the teacher
provides a diversity-rich envi-
ronment where the students can
learn actively about the things
within their interest. For this, the
teacher can use real-life exam-
ples.

Option (1) is correct.

Explanation:

1. Socialisation is a complex
process: Yes, Socialisation is a
complex process because the
life of the children is influ-
enced by the various agencies.
Throughout the process, the
child acquires the knowledge,
attitudes, values, and behav-
iors which must be developed
for survival in society.

2. Socialisation is a multidimen-
sional process: Socialisation is
usually done on the basis of
multiple ways, like in the form
of family, schools, neighbours
and through multiple agencies.

3. Socialisation  takes place
uniquely in different cultures:
Socialisations differ in different
cultures, and the peoples are
socialised differently within
their own beliefs, and values.

23.

24.

25.

26.

27.
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Option (2) is correct.
Explanation: Adolescence is one
of the important stages of hu-
man life, where they usually
go through different physical,
emotional, social and cognitive
aspects. This is wrong that chil-
dren across different cultures ex-
perience adolescence in a similar
manner, actually, the culture is
not the factor that influences ad-
olescence, everyone has different
social, emotional and cognitive
aspects, so this would not be ex-
actly similar.

Option (2) is correct.

Explanation: ~Work-in-progress

portfolios are an effective tool for

formative assessment-

+ Throughout the process, teach-
ers can involve students to as-
sess a deeper and better way.

* By assessment, you will find
his/her mistakes, and through
this you will work to improve
them in the right direction.

* In terms of tangible evidence,
teachers will collect concrete
and exact evidence to improve
their students in the right
manner.

Option (2) is correct.
Explanation: In terms of mean-
ingful learning, if the students
wants to gain knowledge and
mastery of the concepts and re-
al-life examples, the students
must be engaged with the active
environment and can help to
build their concepts with real-life
examples. For this they can make
their small group with their peers
and can share and help each oth-
er.
Option (4) is correct.
Explanation: In the context of the
given question, Sujata wants the
first prize of cash, which shows
the extrinsic motivation, extrinsic
motivation is where you will at-
tract external things like prizes or
rewards. If Sujata does not show
interestin the prizes and wants to
dance only for her joy and inter-
est, this would be called intrinsic
motivation.

Option (1) is correct.

Explanation: In the context of the

given question, usually the ques-

tions start with the ‘How’ will
make the students brainstorm,
where the students can think of
the reason behind it and can use
their creativity while speaking or
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28.

29.

30.

writing the answers. In the given
option, “How does the author use
symbolism in “To kill a Mocking-
bird”? In this, students can use
their reasoning and understand-
ing to describe this answer.
Note: The Question Starts with
the Wh like who, what does not
make the students to think in
diverse ways.Only The question
Starts with “How” will make the
students think in diverse ways
Option (3) is correct.
Explanation: According to Jean
Piaget's Theory of Cognitive
Development, children actively
construct their understanding of
their world through their own
learning experiences and inter-
actions with the environment
and people, rather than merely
absorbing knowledge passively
from the environment.

Option (3) is correct.
Explanation: In the context of the
given question, Gilligan believed
that Kohlberg's theory is biassed
because Kohlberg has only fo-
cused on males logic and rule.
Option (4) is correct.
Explanation: Here, the question
talks about the different concepts
and gives the wrong reason for
the assertion.

In the assertion, this shows
the teacher as the MKO (more
knowledgeable others), where
the teacher can give temporary
help (Scaffolding) to students in
the specific criteria (ZPD).

From the perspective of reason,
according to the book “Frames
of Mind” which was written by
Haward Gardner, you cannot
measure intelligence by calculat-

ing IQ.

Maths & Science

31.

Option (4) is correct.
Explanation: The numbers are in
ratio 2: 3 : 4..... (given)

32.

33.

Let the common multiple be x.

. The actual numbers will be 2x,
3x and 4x

(2x)° + (3x)® + (4x)®
= 33957... (given)
© (8 + 27 + 64) ¥ = 33957
599 x% = 33957
. 33957
B¥=
99

Lx= 3343

So, numbers are :
2x=2x%x7=14
3x=3x7=21
dx=4x7=28
lx=7

.. Sum of 3 numbers

=2x + 3x + 4x

=14+21+28

= 63

. Sum of 3 numbers = 63

Option (1) is correct.

Explanation: Let the 3

consecutive integers be (x — 1),

x,and (x + 1)

When taken in increasing order.

3x-1)+5x+2(x+1) =99
...(given)

SL3x=-3+5x+2x+2=99

S 10x-1=99

108 =99 + 1

So, 10x = 100

M= 2
10

. Original first integer
=x-1=10-1=9
Original third integer
=x+1=10+1=11
So, sum of integers is

L9+ 11 =
Option (3) is correct.
Explanation: 1

(a) A rational number includes
integers TRUE

As a rational number is a
number than can be expressed
as the ratio of two integers, in
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34.

which denominator cannot be

Zero.

. All natural numbers, whole
numbers as well as integers and
the number zero are rationals.

(b) 0 (zero) is not a rational
number: FALSE.

Refer to above explanation on
rationals.

As ‘0" can be expressed as

0-2-%1+0
g 1

.. 0is a rational number

(c) All fractions are rational
numbers : TRUE.

This is because fractions are

always ratio of positive integers.
where denominator # 0
For example, In 2—72 (7#0 . .

22
is a fraction and 2 is a rational

number

22
However 2 = 3.14159..... is not

a rational number as it cannot be

p

expressed in the form of - and

q#0.

Option (4) is correct.
Explanation: Curved surface area
of right circular cylinder

= 4400 cm?
5

(1)

Circumference of base

=110 cm

Formula used:

Curved surface area of the right
circular cylinder = 2nrh
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35.

= (2nr) = 110 cm ..(2)
(2mr)h = 4400 ... from (1)
o110 X h = 4400 ... from (2)
4400
= ——=40
== "0
oo h =40 cm ..(3)
40 2
= ﬁ:g meter
2nr = 110 ... from (2)
7 1 35
LT = 110><£><—:? cm
35 1 7
r = —x——=— meter
2 100 40
7
r= E(m)

= Volume of cylinder = nr?h

2 7 7 2
=—X—X—X—
7 40 40 5
77
2000

Volume = 0.0385m?

Option (4) is correct.

Explanation: In triangle PQR, ZR

= 15°and PR > 18 cm

Lets consider why other options

cannot make an obtuse scalene

triangle.

Opt1):

18 cm

p A Q

Here, for APQR to be obtuse
scalene;

/P = 55° < 90°

/R = 65° < 90°

o ZQ must be > 90°

However; £Q = 180° — (55° +
65°) = 60°

L Q¥ 9
. Option (1) is incorrect
Option (2) :
l R
18 cm
pA Q

Here, in APQR,

PR =RQ =18 cm (given)

It is an isosceles triangle

s LP = £Q = 55°

However; ZQ = 180° — (55° +
35°) = 90°

Since, /P # ZQ and £ZQ ¥ 90°
.. Option (2) is incorrect
Option (3) :

R

4

18 cm

Here, again APQR becomes an
isoscles A as PQ=QR
However; /P # /R

.. Option (3) is incorrect
Option (4) :

36.

37.

81

18 cm

P

Here, in APQR,
£Q = 180° - (55° + 15°) = 110°
ZQ > 90°

also ZP <90 ZR <90

Also, side opposite to the largest
angle is the greatest.

.. opt(4) is correct

Option (4) is correct.
Explanation: Piaget was a Swiss
psychologist known for his work
in developmental psychology,
particularly the study of cogni-
tive development in children.
He introduced the term “Schema’
to describe mental structures or
frameworks that individuals use
to organise and interpret infor-
mation.

Option (2) is correct.

-3 —4
-1 2
Explanation: - (*) + (fj
y 3 3

=(-3)°+ @)4 {using a" = ai”}

24
(3P x2
@) 3
{usingp+a:pxb}
qb g a
2t e
3 3
x_-16
y 3

[

48
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38.

39.

- { 265 T
48

-1
{ﬂy} _ 48
y x 265
Option (1) is correct.
Explanation:
Given, A = -2x2 + 12x
B =3x%-8x + 11
C=-4x2+17
D=x-x-3
A+B+C-D
= (22 + 12x) + (3x%>—8x + 11)
+ (42 +17) - (2= x - 3)
s (222 + 32— 4a? - 1)
+ (12x - 8x + ) + (11 + 17 + 3)
o —4x? + 5x + 31
~A+B+C-D
= —4x? + 5x + 31
coefficient of x> = — 4

coefficient of x = 5

L 4+5=
Option (1) is correct.
Explanation:

In adjoining figure;

NES
600

1
7y <.

B
ZB = ZA
i.e. ZABC = ZADC
(- Opposite angles of
parallelogram are equal)
oo 12x + 7y = 60° + 28° = 88°
oo 12x + 7y = 88° ..(d)
Also ZBAD + ZADC = 180°

{-:Supplementary angles
in a parallelogram}

= ZBAD + 88° = 180°
- ZBAD = 180° — 88° = 92°
In AABD,

/DAB + ZABD + ZBDA = 180°
(Sum of angles in a triangle)

5092° 4+ 7y + 60° = 180°

7y + 152° = 180°

40.

41.

=7y =28°

Ly =4° -(2)

Putting the value of y in equation

@,

oo 12x + 7(4°) = 88°

from (1) & (2)

= 12x + 28° = 88°

= 12x = 88°-28° = 60°

— 600 —
12°

o

=X

So, x = 5°

o 2x + 3y = 2(5°) + 3(4°)

from (2) & (3)

=10° + 12°

2x + 3y = 22°

Option (3) is correct.

Explanation: 1.9789

x = 1.011 + 10.11 — 12.101
+ 0.1011

e

01.0110
+ 10.1100
00.1011
11.2221

Now, 11.2221 - 12.101

x = -0.8789

Let y be added to x to get 1.1
T xty=11

= y=11-(-0.8789)

= 1.1+0.878.9

So

Option (1) is correct.
Explanation: x =9andy =5
For number 9471 x 9y2 to be
divisible by 72, it should be
divisible by both 9 & 8

..... {+:(9, 8) is a coprime pair and
9 x 8 =72}

9471 x 9y2 is divisible by 9 if
O+4+7+1+x+9+y+2)
is divisible by 9.

.... {by divisibility rule of 9}.

i.e. 32 + x + y is divisible by 9

232+ x+y=360r32+x+y
=45

{~ 36 and 45 are numbers
greater than 32 which are
divisible by 9}
Lxt+ty=4d4orx+y=13
from the given options; option
@
x=9y=5x+tyz4&x+y
#13
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43.

44.

all the rest options follow x + y
=13
.. x =9,y = 6is incorrect.
Option (2) is correct.
Explanation:
Px+px-y)-ply+2-z
....(given)
=[Px+pPa-pl-lp @y +2) +

N
—_—

... grouping the terms.
=px+pPx-py-py-pz-z
=px-py-pz-p’-py-z

.... rearranging terms
=pOp’-py—2) + (Px - py - 2)
=@+ ap-py-2)

.. One of the factors of the given
polynomial is (p*x — py — z)
Option (1) is correct.
Explanation: data:30,8,7,3,17,
15,21, 24, 29, 23

Median is the average of
middlemost numbers when the
data is arranged in ascending
order.

Data: 3,7, 8, 15, 17, 21, 23, 24, 29,
30

. As there are 10 elements

. Median is average of 5th and
6th elements

17421 38
2

.. Median = 19

~x=19
When we replace 3 by 33 and 8
by 17 in the given data;

the data in ascending form will
be :

7,15,17, 18, 21, 23, 24, 29, 30, 33
21+23 44
2

.. Median = =22

Sy =22

.. Difference = y —x = 22 - 19
=3

LYy-x=3

Option (2) is correct.
Explanation: Consider the first
data

(a) Heights of participants in an
athletics meet.

On the x axis we can have the
name of participants which is
non numerical.

On y axis we plot the height of
participants.

This is discrete, discontinous
data.
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46.

We can use the line graph or
vertical bar graph to represent
this.

(b) Number of passengers
boarding the train from 9.00 am
to 9 p.m. at a station.

On x axis, we have various time
slots from 9.am to 9 p.m. This
data set is continuous.

On y axis,= we have the number
of passengers corresponding to
particular time slot.

We necessarily use a histogram
to represent this.

. The intention of the teacher
is to teach the use of histograms
for data representation.

Option (2) is correct.
Explanation:
A
40°
-
B 8 cm c
F
40°
-
E 8 cm D

In AABC and AFEF

Z/BAC = ZEFD = 40°... (given)

ZABC = ZFED = 90° ... (given)

Side (BC) = side (ED) .... (given)
AABC = AFEF .. by AAS

congruency test

AAS Test : If two triangles
have two equal angles and a
side adjacent to only one of the
angles that are equal, then the
two triangles are congruent by
AAS of coagruency.

Option (1) is correct.
Explanation:

47.

11 cm

A
12: cm

v

25 cm

2x
3x
1

Area of trapezium = EX
(sum of sides parallel X height)

:%x(11+25)><12

%x36><12:18><12=216

.. Area of trapezium = 216 cm?
Area of rectangle = 3x X 2x

{.. Sides in ratio 2 : 3; x be

in a common factor}

= 6x?
According to question,
Area of trapezium = area of
rectangle

= 6x2 =216

6
x=+4+6
x=6

Perimeter of rectangle 2
(length + breadth)
=2(B3X6+2X 6)
=2(18 + 12)
=2 X3 =60cm
Option (4) is correct.
Explanation: In this scenario the
conceptofleastcommon multiple
is important because one wants
to find the smallest distance that
each person can walk and at the
same time make sure they cover
the same total distance.

LCM is used when dealing with
multiples of numbers. In this
case, the step measures are the
lengths of the steps taken by
each person and we need to
find a distance where the step
measures become multiples of
the same number.

36

48.

49.
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LCM helps indentify the
smallest common multiple for
the given step measures.

Option (1) is correct.
Explanation:

(a) Teaching learning process
shall become joyful: Correct
A sports naturally brings an el-
ement of fun and enjoyment,
making learning more engaging
and interactive.

(b) It is not possible to use
sports for teaching mathemat-
ics: Incorrect

This statement is incorrect be-
cause numerous sports activities
can be designed to teach various
amthematical concepts. eg:
Kho-Kho: Concept of speed,
time, distance:
Tug-of-war:
force,motion.
Mallakhamb: Geometry (body
positions & shapes formed
durign excercises), symnetry,
balance etc.

Concept of

(c) It is time consuming and
hence should be avoided: Incor-
rect, because integrating sports
can actually enhance. Students’
engagement and understand-
ing and it is not necessarily time
consuming.

(d) Apart from popular sports,
there are many indigenous
sports that can be used in teach-
ing mathematics: Correct

Refer to explanation of option
(b)-

.. Option (a) and (d) are correct.
Option (2) is correct.
Explanation: A pair of angles is
said to be supplementary if the

measure of the angles add upto
180°

let m & p be supplementary an-
gles

(m>p)... .m+p=180°..(1)
m—p=20°..(2) (given)

s 2m =200 ... (Adding (1) & (2)
m = 100°

Putting the value of m in equation
(1),

s p = 180° - 100° ... from (1)
~op=80°

. 3p —50° = 3(80°) — 50°
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50.

51.

= 240° - 50° = 190°

- 3p-50° = 190°

Option (1) is correct.
Explanation: =~ Ram has good
memory but lacks conceptual
understanding.

This statement suggests that
Ram can recall definitions ac-
curately (indicating his good
memory) but may not fully un-
derstand or apply the concepts
when presented with specific
numbers. It highlights a po-
tential gap in conceptual un-
derstanding rather than lack of
practise.

Clearly Ram doesnt have analyt-
ical skills. Also there is little con-
nection between concentration
and ability to analyze.

. Option (2), (3) and (4) are in-
correct.

Option (1) is correct.
Explanation:

Option (a): It provides to an op-
portunity for students engage
in proofs and examining pat-
terns.

This statement is valid because
engaging in proofs requires stu-
dents to think logically and crit-
ically. A student must identify
and analyze information, con-
struct arguments and evaluate
conclusions.

. It fosters critical thinking and
logical reasoning.

Option (c): Students use appro-
priate strategies for solving var-
ious new problems.

This statement is valid because
mathematics involves not just
rote memorization but the de-
velopment of problem solving-
strategies. When a student en-
counters a new mathematical
challenge, he/she is engaged in
critical thinking, logical reason-
ing and develops creative prob-
lem solving strategies.

Option (b) Students reproduce
formulae and symbols during
problem solving.

This statement is Not valid be-
cause mathematics is not only
about memorizing formulaes
and symbols. It involves under-
standing the underlying con-

52.

53.

54.

cepts, logic and use these ac-
cordingly.

Hence, option (a) and (c) are
correct.

Option (4) is correct.
Explanation: x varies inversely as
... given

S.X oCc—;

Yy

k
X=—,
(k % constant of inverse
variation)
k=xxy (1)
x =235 y = 2.4 ...(given)
~k=35%x24 (2)
where x = 5.6, y = k _35x24
from (1) & (2) x 56
_ 35x24
560

(Multiply & divide by 100)

Option (1) is correct.
Explanation:

Total fruits = 44 + 56 + 42 + 30
+ 38 =210

Apples = 56

. In a pie chart; all the angles of
the sector should sum to 360°

. Angle of sector representating

Number of apples/Total number
of fruits x 360°

= 26 3600 = [967]

"~ 210

Option (1) is correct.
Explanation:
Selling price SP = X 324

Discount = d = 28% on marked
price (MP)
Cost price = CP = ¥ 300
5. 72% (MP) = 324
324 x100
72

S MP =

MP = T 450

s Ifd = 18%

SP = (MP) - 18% (MP) =
SP = 82% MP

82

——x 450
100

So, SP = ¥ 369

SP
-, Profit % = (6_1)100

CTET Year-wise Solved Papers

55.

:(@—l)xlOO
300
= (1.23-1) 100 = 23%

Profit = 23%

Option (4) is correct.
Explanation: Let the two rational
numbers be x and y

_od
y 2
xxy=—22
-5 -40
XX — = ——
2 3
-40 -2 16
=X —=—
3 5 3
; 3 1
.. reciprocal = —=—~——
x 16 5.33

1
We need to find where 533 lies

Lets check

1 1
Option (1): —and—
ption (1) el

Clearly this is incorrect as
533 >5>14

1 1 1
and - = n = 533

1

1
Option (2) 1 and 3

Clearly this is incorrect as;

1 1.1
533 >4 >3 and 3727533

, 3 g2
Option (3): 20 an 50"

This too is incorrect.
by
3 1 9 1
20666 ™ 50" 555
as 6.66 > 5.55 > 5.33
1 1 1

533755 66l

1
5
This option is correct.

Here, approximation;

Option (4): %and

1
B imation; —~——
y approximation =0 55

as 555 >533>5
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1 1 1
L= >
5 533 5.55
1 3 1 9
——~—and——=~—
533 16 5.55 50
1.3.9
5 16 50

.. reciprocal of second number

lies in between 1andi
5 0

Option (4) is correct.
Explanation: In a polyhderon;
Vertices = V = 10
Edges = E = 15
Faces = F = x

(given)

By Euler’s formula;
F+V=E+2
~F=(E+2)-V
=(15+2)-10

F=7

Lx=7

L 3x-12=3(7)-12=9

L3x-12=9

Option (3) is correct.
Explanation: Student is able to
understand concept of percent-
age but is unable to understand
percentage of which quantity is
to be found.
Here % decrease
_ 28,000 -26,500
20800

Clearly the student has solved it
incorrectly.

x100%

. Option (4) is ruled out.
Let us analyze other options.

Option (1) is clearly incorrect as
the student knows the concept
of percentage. He has used
the correct method of solving
however the numerator is
incorrect.

Option (2) is incorrect because
a silly mistake might involve a
computational error, but here,
the student approach demon-
strates a conceptual error.
Therefore option (3) is correct
i.e. The student should has
understood the concept of
percentage, but is not able to
understand percentage of which
quantity is to be found.

Option (4) is correct.
Explanation:

59.
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Firstly we subtract the thickness
from the corresponding external
dimensions to obtain the dimen-
sions of internal area

.. Inner length of open box
=148-(2x0.03) =142m
Inner breadth of open box
=116 -(2 x 0.03) = .10 m
Inner height of open box
=0.83-0.03 =08m
Now, area of inner surface
=2(Ib +0bh+h)-1b
=2(h+hl)+1b
=2[11x 0.8 + 0.8 x 1.42]
+ (142 x 1.1)
=2[0.88 + 1.36] + 1.562
= 5.594 m?

. Cost of painting inner surface
= 5.594 x 150 = ¥ 839.1

Total cost = ¥ 839.1

Option (2) is correct.
Explanation: Taylors abacus of-
fers several advantage for visual-
ly challenged students. A student
is encouraged for mental calcula-
tions, reducing dependence on
visual representations of num-
bers.

Here student use their fingers to
move the beads on abacus, by-
passing the need of sight.

Therefore Taylor’s abacus is best
teaching learning resource for
visually impared students.

Geogebra, computer and spread
sheets make use of elemetns like
graph diagram, screen reading
software which poses a chal-
lenge for the visually challenged
students.

Option (1) is correct.
Explanation: ~ Disposition to-
wards Mathematics

Option (1) Disposition towards
Mathematics refers to a stu-
dent’s attitude, beliefs and mo-
tivation towards mathematics.
While it influences a students

61.

62.

85

engagement and learning, it
cannot be considered as a core
dimension of assessment of
mathematics learning.

Option (2): Mathematical rea-
soning:

This involves a students ability
to think logically, make connec-
tions and apply mathematical
concepts in problem solving.
Hence it is considered as a core
dimension of assessment of
mathematics learning.

Option (3) Communication:
This dimension assesses a stu-
dents ability to express math-
ematical ideas clearly, both in
written and oral form. It in-
cludes the ability to communi-

cate mathematical reasoning.
Solutions and interpretations
effectively.

Therefore it is considered as a
core dimensions of assessment
of mathematics learning,.

Opt (4) Patterns and Proce-
dures:

This dimension involves under-
standing and applying mathe-
matical patterns, relationships
and procedural knowledge.

Understanding patterns and
applying procedures are inte-
gral parts of analyzing, prob-
lem-solving and forming logi-
cal connections. Theirefore it is
considered as a core dimension
of assessment of mathematics
learning.

Option (1) is correct.
Explanation: Using the senses to
gather information is NOT indic-
ative of the hypothesizing skill.
Hypothesizing involves forming
educated guesses or explana-
tions based on observations and
existing knowledge, while using
the senses is more related to the
skill of observation rather than
hypothesis formulation.

Option (3) is correct.
Explanation: A fact is an obser-
vation that has repeatedly been
found to be true, while a law is
a statement that describes a con-
sistent and universal relationship
observed in nature. A theory, on
the other hand, is a well-sub-
stantiated explanation of some
aspect of the natural world.
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Option (4) is correct.
Explanation: Yellow vein mosaic
of bhindi is caused by a Virus,
while rust of wheat and citrus
canker are caused by fungi and
bacteria, respectively. Citrus
canker, caused by the bacteri-
um Xanthomonas citri, affects the
leaves, twigs and fruit of citrus
plants causing the leaves to drop
and unripe fruit to fall to the
ground.

Option (1) is correct.
Explanation: Students are likely
to employ classifying (a) as they
categorize the objects based on
shape and observing (b) as they
gather information about the
manner of movement. Inductive
reasoning (c) and measuring (d)
are less likely to be employed in
this context.

Option (3) is correct.
Explanation: (a) Slaked lime -
Calcium hydroxide

(b) Table salt - Sodium chloride
(c) Limestone - Calcium car-
bonate

(d) Caustic soda - Sodium hy-
droxide

(e) Quick lime - Calcium oxide
(f) Baking soda - Sodium bicar-
bonate

Option (2) is correct.
Explanation: (a) “The electro-
scope leaves move further apart.”
This is an observation because it
describes a measurable and di-
rectly observable phenomenon.
(b) “Both the electroscope leaves
acquire similar charge.” This is an
inference because it goes beyond
direct observation. It proposes
a cause-and-effect relationship
based on the observation in (a).
(c) “The negative charge passes
on to the electroscope causing
its leaves to move further apart.”
Similar to (b), this statement is
an inference. It suggests a cause-
and-effect relationship based on
the observed movement of the
electroscope leaves in (a).
Option (2) is correct.
Explanation: The stars’ apparent
motion from east to west is due
to the Earth’s rotation from west
to east. This rotation causes the
observer to perceive the stars’
movement in the opposite direc-
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tion, providing a correct expla-
nation for the assertion.

Option (1) is correct.
Explanation: The box is at rest on
a horizontal table, so the gravita-
tional force pulling it downward
is balanced by the normal force
exerted by the table upward. In
this equilibrium state, the net
force is zero, and a pair of bal-
anced forces acts on the box.
Option (2) is correct.
Explanation: =~ The statement
“science promotes skepticism”
means that scientific inquiry
encourages a critical and ques-
tioning attitude. Scientists rely
on empirical evidence to support
or refute claims, fostering skep-
ticism toward unverified or un-
supported assertions.

Option (3) is correct.
Explanation: X derived from pe-
troleum is Bitumen, and Y de-
rived from coal is Coal Tar. Both
are thick, black liquids used for
road metalling. Option (3) cor-
rectly identifies the sources of X
and Y in relation to Bitumen and
Coal Tar.

Option (3) is correct.
Explanation: Newton’s theory
of gravitation is regarded as ex-
cellent because it successfully
explains a wide range of obser-
vations with a simple set of prin-
ciples, emphasizing the elegance
and efficiency of the theory in
making accurate predictions
with minimal assumptions.
Option (3) is correct.
Explanation:

(a) Rose - Vegetative propagation
(b) Yeast - Budding

(c) Ferns - Spore formation

(d) Spirogyra - Fragmentation
The correct pairing of plants with
their modes of asexual reproduc-
tion is provided by option (3).
Option (3) is correct.
Explanation: Rayon, also called
viscose and commercialised in
some countries as sabra silk or
cactus silk, is a semi-synthetic
fiber, made from natural sources
of regenerated cellulose, such as
wood and related agricultural
products. It has the same molec-
ular structure as cellulose.
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Option (3) is correct.
Explanation: Introducing the
concept of deficiency along with
the definition of a balanced diet
sets the foundation for under-
standing deficiency diseases. It
establishes the importance of
proper nutrition and paves the
way for discussing specific nu-
trients and their roles in prevent-
ing deficiency diseases.

Option (3) is correct.
Explanation: A well-construct-
ed matching item should have
a unique and clear correspond-
ence between entries in columns
A and B. Having more than two
plausible entries for a single item
in column A indicates a poorly
constructed item, making it chal-
lenging for students to provide a
precise match.

Option (1) is correct.
Explanation: The kinetic energy
(KE) of a body is given by the for-

, Where p is the linear

mula P
2m
momentum and m is the mass of
the body.
Option (2) is correct.
Explanation: Rusting of iron in-
volves a chemical reaction be-
tween iron and oxygen, and it
is not a reversible reaction. It is
very exothermic but heat is lost
before the temperature increases
because the reaction is very slow,
and while it can occur at room
temperature, it is not limited to
that condition.
Option (2) is correct.
Explanation: Non-metals will
normally not react with water,
however, non-metal oxides will
react with water to form acids.
Option (2) is correct.
Explanation: Introducing the
concept of chemical reactions
through discussions on real-life
examples engages students and
makes the subject more relatable.
This approach encourages curi-
osity and helps students connect
theoretical concepts to practical
observations.
Option (3) is correct.
Explanation: In a sitar (X),
sound is produced by stretched
strings; in a harmonium (Y), it
is the stretched membrane that
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vibrates; and in a dholak (Z),
the vibrating part that produces
sound is the air column. Option
(3) correctly identifies these mu-
sical instruments.

Option (1) is correct.
Explanation: Macronutrients de-
rived from the soil and needed in
large amounts are nitrogen (N),
phosphorus (P), potassium (K),
sulphur (S), calcium (Ca), and
magnesium (Mg). Legumes are
the exception because they fix
N from the air. The remaining
essential nutrients derived from
the soil are referred to as micro-
nutrients, because they are need-
ed in small amounts. They are
boron (B), chloride (Cl), copper
(Cu), iron (Fe), manganese (Mn),
molybdenum (Mo), nickel (Ni)
and zinc (Zn). Micronutrients
are important for plant growth,
as plants require a proper bal-
ance of all the essential nutrients
for normal growth and optimum
yield.

Option (3) is correct.
Explanation: Rehearsing the
demonstration is actually a de-
sirable practice, as it ensures the
smooth execution of the experi-
ment. Planning, supplementing
with explanations, following up
with discussion, and emphasiz-
ing linkages are all positive as-
pects of conducting a classroom.
Option (3) is correct.
Explanation: The force of gravity
is responsible for the ball's mo-
tion, and its magnitude remains
the same during both upward
and downward motion.

Option (1) is correct.
Explanation: Seed dispersal typ-
ically involves the movement
of seeds away from the parent
plant, but this process doesn’t di-
rectly lead to the creation of new
genetic varieties. The genetic di-
versity and the creation of new
varieties usually result from pro-
cesses like mutation and genetic
recombination.

Option (4) is correct.
Explanation: Periscope: A peri-
scope is a device that allows an
observer to see objects that are
not in their direct line of sight. It
typically consists of a system of
mirrors or prisms to reflect light
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and bring the image to the view-
er’s eyes.

Reflection: The principle in-
volved in a periscope is reflec-
tion. Mirrors inside the periscope
reflect the light, redirecting it
around corners and obstacles, so
that the observer can see objects
that are not directly in their line
of sight.

Option (2) is correct.
Explanation: When three resist-

ances of (%j () each are connect-

ed, we can calculate the maxi-
mum and minimum resistance
as follows:
Maximum resistance is obtained
when the resistances are con-
nected in series:
R = Ry + Ry + Ry
_1,1,1 4

3 3 3
Minimum resistance is obtained
when the resistances are con-
nected in parallel:

1 1 1 1
— - e
Rmin Ry Ry R

1
Rmin = g ‘Q’
Now, we find the difference be-
tween the maximum and mini-

mum resistance:

Difference = R, — Ry,
=1 - lzg Q
3 3

Option (1) is correct.
Explanation: Acid rain is caused
by the release of certain pollut-
ants into the atmosphere, which
then react with water vapor to
form acids. The primary pollut-
ants responsible for acid rain are
sulfur dioxide (SO,) and nitro-
gen oxides (NO,), which include
nitric oxide (NO).

Option (3) is correct.
Explanation: Dried raisins swell
in water due to osmosis, where
water moves from an area of
lower solute concentration to
higher concentration. The plant
cell wall being selectively perme-
able is accurate, but the prima-
ry reason is osmotic movement
across the raisin cell membrane,
equalizing solute concentrations
and causing swelling.
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Option (1) is correct.
Explanation: In most species of
frogs, fertilization is external.
The male frog grabs the female’s
back and fertilizes the eggs as the
female frog releases them. Fe-
male fish release eggs into water
and male fish releases sperms.
Sperms swim randomly in water
and comes in contact with the
eggs. Since fertilization occurs in
water, outside the female body,
it is called external fertilization.
Starfish is an echinoderm and
fertilization occurs externally.
Most of the starfish species re-
lease their eggs directly into the
water. The male starfish then re-
leases sperms over the secreted
eggs and fertilizes them to form
zygote.

Option (4) is correct.
Explanation: lodine is required
for the production of thyroxine
hormone, which is essential for
the transformation of tadpoles
into frogs. Tadpoles may develop
abnormally or even die if there
are insufficient levels of iodine
in the water, which could affect
the synthesis of the hormone
thyroxine. Iodine must therefore
the present in water to ensure
appropriate transformation of
tadpoles into healthy adult frogs.
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Option (2) is correct.
Explanation: A noun is a word
that represents a person, thing,
concept, or place. In the given
sentence, time is a noun because
it indicates the measurement of
moments or the forward progres-
sion of events. While ‘around’ is
an adverb, that describes some-
thing that's on every side of you.
Hence, option (2) is correct.
Option (4) is correct.
Explanation: The passage clearly
states the presence of the daugh-
ter, so the narrator is definitely
one of the parents, who reminisc-
es her childhood days through
her daughter. Thus, from the
given anecdote it is apparent
that the characters share the re-
lationship of mother-daughter.
Hence, option (4) is correct.
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Option (4) is correct.
Explanation: "Admonish" means
to reprimand or scold. The act of
plucking one of the ixora flow-
ers actually left the narrator up-
set and confused, she wanted
to reprimand / scold his friend.
Whereas other options are oppo-
sites to the given word. Hence,
option (4) is correct.

Option (1) is correct.
Explanation: In the passage,
"to be transported in time" is
used when the narrator reflects
on her childhood upon seeing
her daughter's excitement. This
phrase metaphorically means re-
visiting past experiences in one's
mind. It encapsulates the idea of
mentally journeying back to ear-
lier moments, thus aligning with
"recollect memories of the past."
Option (2) is correct.
Explanation: The phrase ‘dead
tried’ refers to a state of complete
exhaustion, and all options ex-
cept (2) reveal the same meaning,.
“To feel refreshed’ is the opposite.
Hence option (2) is correct.
Option (3) is correct.
Explanation: In the analogy, clus-
ter and bunch share the relation-
ship of synonyms. In the same
manner, ‘puny’ implies ‘deli-
cate’. Hence, option (3) is correct.
Option (3) is correct.
Explanation: According to the
mother, it was not a good idea
to taste the sweet nectar from
flowers. This is because the se-
cret that the girl shared with her
mother took the mother back to
her youth, when she had tasted
the sweet nectar from flowers.
Hence, option (3) is correct.
Option (1) is correct.
Explanation: The assertion that
the child was excited to share
a secret with the mother is cor-
rect, so is the reasoning that the
mother was in disbelief and went
down the memory lane. But R is
not the correct explanation for A.
Hence, option (1) is correct.
Option (2) is correct.
Explanation: It is untrue that the
writer was left traumatised by
the incident of tasting sweet nec-
tar from flowers. It is apparent
that while returning from school,
the writer and her friend had in-
dulged in the guilty pleasure of
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tasting sweet nectar from flow-
ers, and she is reminded of this
through her daughter’s secret.
The writer wants her child to be
connected to the sweet pleasures
of nature because she decides to
let her child enjoy the taste of
sweet nectar. Therefore, (b) and
(c) are correct and (a) is incorrect.
Hence, option (2) is correct.
Option (3) is correct.
Explanation: The poet says that
every day as he has his tea he sits
at the window looking out. He
sees Leerie the lamplighter goes
by his street. He states that he
does not want to follow the foot-
steps of his father, and wants to
become like Leerie the lamplight-
er. He sits and wonders about the
profession of lamplighting and
the joy that it brings to everyone.
Hence, option (3) is correct.
Option (2) is correct.
Explanation: The phrase ‘the sun
has left the sky’ indicates the
sun is no more, so it is evening.
Hence, option (2) is correct.
Option (4) is correct.
Explanation: The pattern of lines
5-8 is : see/be, do/you. Thus, the
rhyme scheme is aabb. Hence,
option (4) is correct.

Option (1) is correct.
Explanation: The poet states ‘for
we are very lucky , with a lamp
before the door’. This implies
that he is lucky to have the light
at night before his door. Hence,
option (1) is correct.

Option (1) is correct.
Explanation: Leerie the lamp-
lighter ensures that the poet’s
family has light before their door,
but if it is occasional cannot be
concluded. The poet evidently
denies following the footsteps
of his father, as he is fascinated
by the profession of Leerie. He
claims to be strong one day and
along with Leerie, he wants to
light lamps at everyone’s doors.
Therefore, (a) and (b) are incor-
rect and (c) is correct. Hence, op-
tion (1) is correct.

Option (2) is correct.
Explanation: If Leerie by profes-
sion is a lamplighter, then the
father is a banker. Hence, option
(2) is correct.
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Option (1) is correct.
Explanation: Sign language is a
natural language, meaning that
it emerged through an abstract,
protracted aging process. Sign
languages have their own gram-
mar, and has many varieties.
Therefore, it is not true that sign
language does not have gram-
mar. Hence, option (1) is correct.
Option (3) is correct.
Explanation: Cluster vocabulary
refers to a groups of words based
on a common theme. Word webs
are mind maps that promote ac-
tive learning and help students
develop higher-order thinking
skills. A thematic set are the
words used for a given theme.
Word groups/clusters are groups
of words based on a common
theme. Thus, thematic vocabu-
lary is correct. Hence, option (3)
is correct.

Option (3) is correct.
Explanation: Procedural knowl-
edge in learning grammar refers
to understanding how a gram-
matical form functions in use and
applying the same. So knowing
how to do the grammatical item
is the objective. Hence, option
(3) is correct.

Option (1) is correct.
Explanation: Scanning is reading
rapidly in order to find specific
facts. Skimming is a strategic, se-
lective reading method in which
you focus on the main ideas of
a text. Study skills are often re-
ferred to as study strategies and
academic skills and are consid-
ered as an effective approach
to learning. Critical reading is a
process of analyzing, interpret-
ing and, sometimes, evaluating.
So when a learner reads through
a news item for a specific infor-
mation, it is known as scanning,.
Hence, option (1) is correct.
Option (4) is correct.
Explanation: Multilingual policy
refers to the process of teaching
students who regularly engage
with more than one language.
Multilingual policy is the use
of more than one language, ei-
ther by an individual speaker
or by a group of speakers. Lan-
guage Acquisition is the process
of learning and understanding
a language by a child or adult.
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Thus, the given example is a case
of Multilingual policy. Hence,
option (4) is correct.

Option (3) is correct.
Explanation: In this case, Tamil
and Punjabi are the languages
acquired (from her neighbour-
hood); while English comes un-
der language learning. Hence,
option (3) is correct.

Option (2) is correct.
Explanation: Mutual dictation is
the process where pairs of stu-
dent dictate to each other in or-
der to complete a specific text.
Thus, the given example is a case
of mutual dictation. Hence, op-
tion (2) is correct.

Option (4) is correct.
Explanation: BICS (Basic inter-
personal communication skills)
refers to conversational fluency —
the ability to talk about objects or
experiences in face-to-face famil-
iar contexts. The given example
emphasizes on informal face-to-
face conversation and interac-
tion, so BICS (Basic interpersonal
communication skills) is the cor-
rect choice. Hence, option (4) is
correct.

Option (1) is correct.
Explanation: In the given exam-
ple, the teacher teaches through
critical language development.
Hence, option (1) is correct.
Option (4) is correct.
Explanation: Reciprocal teaching
is a cooperative learning strategy
that aims to improve students'
reading comprehension skills,
here; students talk with their
teachers about the substance and
meaning of texts they just read.
Hence, option (4) is correct.
Option (3) is correct.
Explanation: Remedial teaching
primarily focuses on provid-
ing extra attention and tailored
instruction to learners who
struggle with certain aspects of
language learning. It aims to
address specific learning diffi-
culties to improve the student's
overall proficiency.

Option (3) is correct.
Explanation: Interlingual identi-
fication refers to a learner's rec-
ognition of similarities between
their native language and the
target (second) language they
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are learning. This can involve
identifying common linguistic
elements, structures, or vocabu-
lary.

Option (1) is correct.
Explanation: When a specific
community within a larger re-
gion speaks a variation of a lan-
guage, it is often referred to as a
social dialect. This term reflects
language differences attributable
to social groups rather than geo-
graphic areas.

Option (1) is correct.
Explanation: Extensive reading
involves learners reading texts
for enjoyment and to develop
general reading skills. It is not
done for learning grammar.
Hence, option (1) is correct.
Option (3) is correct.
Explanation: The primary aim
of the Three Language Formula
is to promote multilingualism
in India and enable students to
communicate effectively across
the country. The Three Language
Formula states that every stu-
dent in India should learn three
languages: two of which should
be native Indian languages, in-
cluding one regional language,
and the third should be English.
Hence, option (3) is correct.
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Language-Ii: English
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123.

Option (4) is correct.
Explanation: Just as local and
global are opposites; similarly,
erratic (unpredictable) is oppo-
site to consistent. Hence, option
(4) is correct.

Option (4) is correct.
Explanation: It is clear that the
loss of farmer’s earnings is pri-
marily due to extreme weather
changes, this results in the rise
of food prices, thus leading to
reduced food consumption. This
impacts the deteriorating nutri-
tional security. Thus, the correct
pattern is (c), (a), (d), (b). Hence,
option (4) is correct.

Option (4) is correct.
Explanation: The farmers who
have taken to household pro-
duction are not impacted by in-
flation or malnutrition or food
insecurity, thus they enjoy better
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124.

125.

126.

127.

128.

129.

nutritional intake. Hence, option
(4) is correct.

Option (3) is correct.
Explanation: The statement that
a significant number of house-
holds can afford healthy food is
proved incorrect in the first par-
agraph. It is untrue that house-
hold food production has limited
impact on food inflation. It is no-
where stated that food insecurity
is an occasional phenomenon in
India. Thus, all statements are in-
correct. Hence, option (3) is cor-
rect.

Option (2) is correct.
Explanation: The second para-
graph testifies that with increase
in household production, wom-
en enjoyed a normal body mass
index; increased nutritional in-
take; increased food consump-
tion in households. The only odd
one is increase in the number of
malnourished children. Hence,
option (2) is correct.

Option (1) is correct.
Explanation: These changes are
‘pronounced’ implies ‘noticea-
ble” in remote areas. Hence, op-
tion (1) is correct.

Option (3) is correct.
Explanation: An adjective is a
word that modifies or describes
a noun or pronoun. ‘Significant’
is an adjective, modifying the
noun number’. While ‘own’ is
a pronoun. Hence, option (3) is
correct.

Option (2) is correct.
Explanation: As discussed in the
passage, some households have
remained out of the crisis of food
insecurity by adopting home
production systems. Hence, op-
tion (2) is correct.

Option (2) is correct.
Explanation: The aspect that
Abdul preferred classical music
is incorrect, because as per the
passage he preferred pop mu-
sic, while Philip loved classical
music. Other options are true for
Abdul. He was a criminal from
Algeria, who was quick-wit-
ted and supportive. Later, he is
shown to have shared a close
bond with his employer. Hence,
option (2) is correct.

130.

131.

132.

133.

134.

135.

136.

Option (4) is correct.
Explanation: The first statement
confirms that ‘Untouchable’ is
a French comedy movie. The
theme is set upon two friends
with different personalities and
tastes. The movie is shown to be
successful in France and Algeria.
Therefore, (a) and (c) are correct
and (b) is incorrect. Hence, op-
tion (4) is correct.

Option (4) is correct.
Explanation: The last paragraph
states that despite living in two
different countries with their
families, what kept their bond
strong was their warm friend-
ship. Hence, option (4) is correct.
Option (1) is correct.
Explanation: Both luxury and
opulence are synonyms, so the
next pair ‘sensation” will be syn-
onymous to ‘feeling’. Hence, op-
tion (1) is correct.

Option (3) is correct.
Explanation: An adjective is a
word that modifies or describes
a noun or pronoun. Here, ‘work-
ing’ is the adjective describing
the noun ‘relationship’. An ad-
verb is a word that modifies (de-
scribes) a verb (“he sings loud-
ly”), an adjective (“very tall”),
another adverb. Here, ‘quickly’
is an adverb modifying the verb
‘developed’. Hence, option (3) is
correct.

Option (2) is correct.
Explanation: Abdul after quitting
a life of crime in Algeria, shifted
to France looking for work/em-
ployment. Hence, option (2) is
correct.

Option (4) is correct.
Explanation: It is clearly stated in
the passage that Philip lost the
use of his arms and legs in an ac-
cident, so he needed a nurse to
help him with day-to-day prac-
tical things in life. Hence, option
(4) is correct.

Option (3) is correct.
Explanation: The primary aim
of the Three Language Formula
is to promote multilingualism
in India and enable students to
communicate effectively across
the country. The Three Lan-
guage Formula states that every
student in India should learn

137.

138.

139.

140.

141.

91

three languages: two of which
should be native Indian lan-
guages, including one regional
language, and the third should
be English. So, the incorporation
of classical language is incorrect.
Hence, option (3) is correct.
Option (1) is correct.
Explanation: This activity, where
students listen to a text and then
work in groups to recreate it, is
a combination of listening and
writing tasks, but it closely re-
sembles collective  dictation,
which involves listening and
then writing what was heard.
Hence, option (1) is correct.
Option (2) is correct.
Explanation: Any form of writ-
ing starts with brainstorming of
ideas, jotting down the points,
making an outline, followed by
creating a draft, then editing and
finalizing. Hence, option (2) is
correct.

Option (1) is correct.
Explanation: In language learn-
ing, students should learn their
mother tongue or a local lan-
guage as their first language,
which will further support the
earning of second language.
Hence, option (1) is correct.
Option (4) is correct.
Explanation: Elam's use of mul-
tiple languages in different con-
texts, adapting to his interlocu-
tors, is known as code-meshing,.
It involves blending languages
in communication. Interlan-
guage is a type of language used
by second- and foreign-lan-
guage learners in the process
of learning a target language.
Code-switching occurs when a
speaker alternates between two
or more languages, or language
varieties, in the context of a sin-
gle conversation or situation.
Translingual may mean "existing
in multiple languages" or having
the same meaning in many lan-
guages. So, code-moving is cor-
rect. Hence, option (1) is correct.
Option (2) is correct.
Explanation: CALP stands for
'Cognitive Academic Language
Proficiency'. It refers to the idea
of developing second language
skills is essential for academic
learning. BICS (Basic interper-
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142.

143.

144.

145.

146.

sonal communication skills) re-
fers to conversational fluency
— the ability to talk about objects
or experiences in face-to-face
familiar contexts. Interlanguage
is a type of language used by
second- and foreign-language
learners in the process of learn-
ing a target language. Thus, the
correct answer is Cognitive Ac-
ademic Language Proficiency.
Hence, option (2) is correct.
Option (1) is correct.
Explanation: This process of con-
sidering opposite perspectives to
deepen understanding is part of
critical literacy, which involves
analyzing and questioning texts
and ideas.

Option (4) is correct.
Explanation: Realia refers to ob-
jects and material from every-
day life, especially when used
as teaching aids. Thus, the use
of spoons, plates, utensils, pan
in classroom refers to realia.
Hence, option (4) is correct.
Option (2) is correct.
Explanation: Cognitive skills are
the core skills that our brain uses
to pay attention, read, think,
learn, remember, and reason.
Listening skills are skills that
contribute to your ability to accu-
rately receive information when
communicating with others. The
act of capturing the main idea
of the lecture and thinking and
remembering them while rec-
reating involves cognitive skill.
Hence, option (2) is correct.
Option (4) is correct.
Explanation: Learning outcomes
describe the measurable skills,
abilities, knowledge or values
that students should be able to
demonstrate as a result of a com-
pleting a course. Learning out-
comes enable learners to attain
the competencies in measurable
terms. Hence, option (4) is cor-
rect.

Option (3) is correct.
Explanation:  Translanguaging
is the ability to move fluidly be-
tween languages and a peda-
gogical approach to teaching in
which teachers support this abil-
ity. Thus, it is the moving from
one language to another while

147.

148.

149.

150.

teaching learning languages.
Hence, option (3) is correct.
Option (1) is correct.
Explanation: =~ An  extrapola-
tive question is a question that
needs imagination and predic-
tion, thus it requires learners to
move beyond the given inputs
like reading text. So, to write a
letter to the young girl would
employ the use of imagination to
understand what she must have
gone through in her life. There is
nothing as ‘expressive questions’
as such. A discursive question
attempts to provide the reader
with a balanced argument on a
topic, supported by evidence. .
Hence, option (1) is correct.
Option (2) is correct.
Explanation: The primary aim
of the Three Language Formula
is to promote multilingualism
in India and enable students to
communicate effectively across
the country. The Three Lan-
guage Formula states that every
student in India should learn
three languages: two of which
should be native Indian languag-
es, including one regional lan-
guage, and the third should be
English. So, the transition from
home language to any two lan-
guages is correct. Hence, option
(2) is correct.

Option (3) is correct.
Explanation: ~ Audiolingualism
is a teaching methodology that
emphasizes the learning of lan-
guage through listening and
speaking. It follows the meth-
ods of oral drilling and mastery
of the formal properties of lan-
guage. Hence, option (3) is cor-
rect.

Option (4) is correct.
Explanation: Declarative knowl-
edge refers to knowing about
something, such as facts, infor-
mation, or the rules of a gram-
matical item. It is knowledge of
the 'what' aspect. Hence, option
(4) is correct.
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